


stat ./plik

katalog == plik (,,treścią'': zwartość)

nazwy plików, nr i-węzłów

nr fizyczne bloków



6000:

Zapis:

6000:

14000:

14000:

Odczyt:

Plik: 15000B
blok: 1KiB
od: (1) 6000, (2) 14000
odczyt / zapis: 1000B



Plik: 14000B
blok: 1KiB
od: 14000
zapis: 1000B



Plik: 0B
blok: 1KiB
od: 14000
zapis: 1000B

lseek()

,,plik dziurawy''



blok max. plik max. partycja

1 KiB

8 KiB

Max. plik:

Max. partycja:

min( (12 + (b/4) + (b/4)^2 + (b/4)^3)*b, 2^32 * 2^9)

2^32 * b





blok max. plik max. partycja

1 KiB

8 KiB

Max. plik:

Max. partycja:

2^32 * b

2^48 * b






